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<font color=red >SCADAZBTEE(H) </font>

EHibs, FFEZIscada-publicZERIGlobalValuekH,

<table>

<tr>
<td>ID32</td>
<td>MWERID32</td >
<td>UINT</td>

</tr>

<tr>
<td>iSafeYear</td>
<td>ZEfEIaE </td>
<td>INT</td>

</tr>

<tr>
<td>iSafeMonth</td>
<td>Zeieti B </td>
<td>INT</td>

</tr>

<tr>
<td>iSafeDay</td>
<td>ZeietaH < /td>
<td>INT</td>

</tr>

<tr>
<td>iSumPower</td>
<td>IIEEINRID </td>
<td>INT</td>

</tr>

<tr>
<td>iFrequence</td>
<td>RFSNRID < /td >
<td>INT</td>

</tr>

<tr>
<td>iSysAlarmClass</td >
<td> RFIREER </td>
<td>INT</td>

</tr>

<tr>
<td>iRepairAlarmClass</td>
<td>IHEIREFR </td>
<td>INT</td>

</tr>

<tr>
<td>iSOEAlarmClass</td>
<td>SOEIRZEFER < /td>
<td>INT</td>

</tr>

<tr>
<td>iPDRBeforeFault</td>
<td>EEHEIRTmEEL </td >
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<td>INT</td>

</tr>

<tr>
<td>iPDRBSaveSpan</td>
<td>EHEIRFERFD) </td>
<td>INT</td>

</tr>

<tr>
<td>iPDRAfterFault</td>
<td>EEHERmEE < /td>
<td>INT</td>

</tr>

<tr>
<td>iPDRASaveSpan</td>
<td>EHSREFERFE) </td>
<td>INT</td>

</tr>

<tr>
<td>iDeadDataPeriod</td>
<td>FEEUREERRFED) </td>
<td>INT</td>

</tr>

<tr>
<td>iOldDataPeriod</td>
<td>ZEUEERFE) </td>
<td>INT</td>

</tr>

<tr>
<td>iFormulaPeriod</td>
<td> A ITEREEAFER) </td >
<td>INT</td>

</tr>

<tr>
<td>iTopoPeriod</td>
<td> DT EEARD) </td >
<td>INT</td>

</tr>

<tr>
<td>q</td>
<td>SCADA#E{FirE < /td>
<td>INT</td>

</tr>

<tr>
<td>iAlarmAC</td>
<td>TSREZEZEL < /td>
<td>INT</td>

</tr>

<tr>
<td>iProtAC</td>
<td>TSREESEP < /td>
<td>INT</td>

</tr>

<tr>
<td>iRunAC</td>
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<td>TSRIZ{TEHEHK </td>
<td>INT</td>
</tr>
<tr>
<td></td>
</tr>
</table>

scadaPIBLBETEG)
<font color=red >GlobalValueEffnamelE— KB IKE 32, BB ENEEFE, </font>

<table>
<tr><th>name</th> <th> A </th> <th>EAE</th> </tr>
<tr><td>selectTimeOut</td> <td>1&EBATATA < /td > <td>90</td > < /tr>
<tr> <td>guardTimeOut</td > <td > SFiP#BATATE) < /td > <td >60 < /td > < /tr>
<tr> <td>DeadDataPeriod </td> <td > FE##EAT A </td > <td > 180 </td > </tr>
<tr><td>NoChangeDataPeriod </td > <td > Z#uERf[E < /td > <td>20</td> </tr>
<tr><td>FaultTimeSpan</td> <td>&EATATE] < /td> <td>10</td > </tr>
<tr> <td>RepairAlarmDisable </td> <td > 25| FIGEHE </td> <td>0</td> </tr>
<tr><td>AnalogLimitMode </td > <td > & EREEL < /td> <td>0</td> < /tr>
<tr><td>UseAliasName</td > <td>ZFHRIE < /td> <td>1</td> < /tr>
<tr><td>DebugAlarmServer</td> <td >R EIRSS </td> <td> 1< /td> < /tr>
<tr><td>AlarmServerFormat</td > <td > R&RSSH8( </td > <td>1</td> </tr>
<tr><td>NeedGuard </td> <td>FEEFIF </td> <td>1</td> </tr>
<tr><td>AutoTag </td> <td> BzfJixs </td> <td>0</td> </tr>
<tr><td>ChecktagDefinelD</td> <td>EHFEE X ID</td> <td>1</td> </tr>
<tr><td>FepMesPort</td> <td>RI&BRikH </td> <td>50021</td> </tr>
<tr><td>OpLockTimeout</td> <td > E{EiABATE] < /td > <td>300</td > </tr>
<tr><td>FaultResetTime </td> <td > &I ERTIE] < /td > <td>10</td > </tr>
<tr><td>TransMode</td> <td >3 &= </td> <td>1</td> </tr>
<tr><td> <font color=red>LAT/93&& CyberControl5.1{REEE X </font> </td> <td> </td> <td
</td></tr>
<tr><td>scada.safe.year</td> <td>%EXE-F</td> <td>2016</td> </tr>
<tr><td>scada.safe.month</td> <td>Z£X#-8 </td> <td>1</td> </tr>
<tr><td>scada.safe.day</td> <td>Z=£XE-H </td> <td>1</td> </tr>
<tr><td>scada.sysalarmclass</td> <td > RFHREELR < /td> <td>0</td> < /tr>
<tr><td>scada.repairalarmclass</td> <td > #&IEIREZER < /td> <td>0</td> < /tr>
<tr><td>scada.soealarmclass</td> <td>soelREEELR < /td> <td>0</td> </tr>
<tr> <td>scada.q</td> <td>scadatr&fiz < /td > <td > 1 HHAEFIRE < br> 2: BFIFEERMA <br>4:F
BGPS<br>8:FiLGPSIZ{TIESE

<br>16:Fahak <br>32:iEREBERE <br> 64 2{EAER <br> 128 ZREFIN <br>256: 5K
RERTCITIBR

<br>512 AT ERGEE A, RONBIAE <br> 10244 EE 15 RIRET=4E <br>2048
[BRZEIER</td> </tr>
<tr><td>scada.pdr.before</td> <td > E{REIMEEL </td > <td>10</td> </tr>
<tr><td>scada.pdr.beforecycle</td> <td > SHIFIMEEH </td > <td>3</td> </tr>
<tr> <td>scada.pdr.after</td> <td>ZEHUSHEEL </td> <td>10</td> </tr>
<tr><td>scada.pdr.aftercycle</td> <td > FE=HSERBE < /td> <td >3 </td > < /tr>
</table>
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